NZXT

KRAKEN G12

GPU MOUNTING KIT

DISCLAIMER

PLEASE READ BEFORE USING THE NZXT KRAKEN G12

This bracket is designed for DIY power users. The installation of the G12
will require care and caution to be completed correctly and without
incident.

GPU warranties usually include the card’s usage with the stock cooler.
There is a high possibility this warranty will be invalidated by removing
the stock cooler. If you are going to use Kraken G12 on your graphics
card, please make sure you have evaluated the risk of losing the
graphics card's warranty.

The warranty of NZXT Kraken G12 is limited to itself and its accessories
which doesn't include the graphics cards and extra liquid coolers, nor is
NZXT liable for damage due to improper installation.

Please contact our support team at nzxt.com/support for more
information.

INSTALLATION

INSTALACION
INSTALLATION
INSTALLIEREN
INSTALLAZIONE
INSTALACAO
YCTAHOBKA

R

BE

(3

(3]

STEP 1-PREPARE THE GRAPHICS CARD

Remove the original cooling module from your graphics card.
Caution: Thermal paste not included. Please use the pre-applied thermal paste on your liquid cooler or
prepare additional thermal paste before installation.

Extraiga el médulo de refrigeracion original de la tarjeta gréafica.
Precaucion: Pasta térmica no incluida. Utilice la pasta térmica preaplicada en el refrigerador liquido o
prepare pasta térmica adicional antes de la instalacion.

Retirez la solution de refroidissement livrée avec votre carte graphique.
Attention : la pate thermique n'est pas fournie. Servez-vous de la pate thermique pré-enduite sur votre
systéme de refroidissement liquide ou munissez-vous de pate thermique avant installation.

Entfernen Sie das urspriingliche Kiihlsystem von der Grafikkarte.
Achtung: Warmeleitpaste nicht im Lieferumfang enthalten. Bitte die bereits auf dem Wasserkiihler
aufgetragene Warmeleitpaste oder nach entsprechender Vorbereitung eigene Warmeleitpaste verwenden.

Rimuovere il modulo di raffreddamento originale dalla scheda grafica.
Attenzione: pasta termica non inclusa. Utilizzare la pasta termica preapplicata sul dissipatore a liquido o
preparare dell'altra pasta termica prima dell'installazione.

Retire o médulo de resfriamento original da sua placa gréfica.
Cuidado: Pasta térmica nao inclusa. Utilize a pasta térmica pré-aplicada em seu resfriador liquido ou
prepare mais pasta térmica antes da instalacao.

CHUMUTE OPUMMHAMBHBIV MOAYIb OXMTaXAEHNA C rpaduUecKoit KapTbl.
BHumaHue! TepmonacTa nprnobpeTaeTcs oTAeNbHO. Micnonb3yiite TepMonacTy, Npe/iBapuTeNibHO HaHeCEHHYIO Ha Bally
XKUAKOCTHYIO CUCTEMY OXNTaXKAeHA, UM MOArOTOBbLTE JOMOJHUTENbHYI0 TEPMONACTy fepes yCTaHOBKOWA.

Y FEoN &8 424 282 2algc
o M DO|AE T} Sote|0f QK| GELICH Sd A 20| MY E2H M HO|AEE ALZSHAHLE HX| TOj| MY
HO|AEE 712 FH|SHUA|2.

F27149 9 AA—ROLTORAES 2 —LERYSILET -
AB TR MNIBFFERTLERA - BEVNDOKESY —F—CHLHLOERINEY—TLR—Z M EERT
20 RYRFRICEBMOY - MR- MEEBELTESL -

BRAELNERNEFERT -
AR REHSKRE - BERTORFERE SIS LNSHRE - NEZRAVESTING SR -
RN ERRSREREE -

ER  AERARMTERE - BEARLEEKSBRE ENBRE - REERRAERFIMIERE -

LEER ANTES DE UTILIZAR EL NZXT KRAKEN G12

Este soporte esta disefiado para usuarios con experiencia en el montaje de equipos. La instalacion del G12 requiere cuidado y
precaucién para completarla correctamente y sin incidentes.

Las garantias de las GPU suelen incluir el uso de la tarjeta con el refrigerador de serie. Existe una posibilidad alta de que dicha
garantia quede invalidada al extraer el refrigerador de serie. Si vas a utilizar el Kraken G12 con tu tarjeta grafica, asegurate de haber
evaluado el riesgo de perder la garantia de la tarjeta grafica.

La garantia del NZXT Kraken G12 se limita al mismo'y a sus accesorios, lo que no incluye la tarjeta grafica ni otros refrigeradores
liquidos adicionales. Ademas, NZXT tampoco sera responsable de los dafios causados por una instalacién incorrecta.

Ponte en contacto con nuestro equipo de atencion al cliente en nzxt.com/support para obtener mas informacion.

A LIRE ATTENTIVEMENT AVANT TOUTE UTILISATION DU KRAKEN G12 DE NZXT

Ce kit de montage est destiné aux utilisateurs avancés, capables d'assembler eux-mémes leur PC. Pour étre effectuée correctement
etsans incident, l'installation du G12 nécessite un soin particulier.

La garantie des cartes graphiques ne couvre en général que leur utilisation avec le matériel de refroidissement d'origine. Il est trés
probable que le retrait de ce matériel annule la garantie de votre carte graphique. Avant d'assembler le Kraken G12, veuillez donc peser
les risques que représente cette perte de garantie.

La garantie du Kraken G12 de NZXT ne concerne que le Kraken G12 et ses accessoires. De fait, elle n'inclut ni la carte graphique, nile
systéme de refroidissement liquide. De plus, NZXT ne saurait étre tenu pour responsable de tout dommage causé par une mauvaise
installation.

Pour obtenir de plus amples informations, veuillez contacter notre équipe d'assistance sur la page nzxt.com/support.

BITTE VOR DER VERWENDUNG DES NZXT KRAKEN G12 LESEN

Diese Halterung ist fiir Systembauer und Power-User konzipiert. Die korrekte Installation des G12 erfordert Sorgfalt und Vorsicht.
GPU-Garantien sehen in der Regel die Verwendung der Karte mit der Standardkiihlung vor. Mit hoher Wahrscheinlichkeit erlischt die
Garantie daher beim Entfernen der Standardkiihlung. Wenn Sie fiir Ihre Grafikkarte den Kraken G12 verwenden méchten, wagen Sie
die Risiken einer AuBerkraftsetzung ihrer Garantie bitte sorgfaltig ab.

Die Garantie des NZXT Kraken G12 ist auf ihn und sein unmittelbares Zubehér beschrankt. Sie erstreckt sich nicht auf die Grafikkarte
oder auf zusatzliche Fliissigkeitskiihler, und NZXT haftet nicht fiir Schaden, die durch eine unsachgeméfe Installation entstehen.
Weitere Informationen erhalten Sie bei unserem Supportteam unter nzxt.com/support.

LEGGERE PRIMA DI UTIIZZARE NZXT KRAKEN G12

Questa staffa & progettata per power user "fai da te". L'installazione di G12 richiede prudenza e cautela affinché sia completata
correttamente e senza incidenti.

Le garanzie GPU di solito includono l'utilizzo della scheda con raffreddatore stock. C'é una forte possibilita che questa garanzia venga
invalidata se viene rimosso il raffreddatore stock. Se si utilizzera Kraken G12 sulla scheda grafica, prendere in considerazione il rischio
di perdere la garanzia della scheda grafica.

La garanzia di NZXT Kraken G12 & limitata al prodotto stesso e agli accessori che non includono le schede grafiche e i dissipatoria
liquido extra. Inoltre, NZXT non é responsabile dei danni dovuti a un'installazione non corretta.

Per ulteriori informazioni, contattare il team di supporto all'indirizzo nzxt.com/support.

LEIA ANTES DE USAR O NZXT KRAKEN G12

Este suporte foi projetado para usuarios avangados autdnomos. A instalagao do G12 requer cuidado e cuidado para ser concluida
corretamente e sem incidentes.

As garantias da placa de geralmente incluem o uso da placa com o resfriador. Existe uma grande possibilidade de que esta garantia
sejainvalidada pela remocao do resfriador. Se vocé for usar o Kraken G12 na placa gréfica, certifique-se de ter avaliado o risco de
perda da garantia da placa grafica.

Agarantia do NZXT Kraken G12 esta limitada ao proprio NZXT Kraken G12 e seus acessorios, 0 que nao inclui as placas graficas e
resfriadores liquidos adicionais, e a NZXT nao se responsabiliza por danos devido a instalacéo incorreta.

Entre em contato com nossa equipe de suporte em nzxt.com/support para obter mais informacdes.

STEP 2-PREPARE THE GPU BRACKET (1)

Install the fan with the label facing the GPU bracket using the fan screws.

Instale el ventilador con la etiqueta mirando hacia el soporte de la GPU y fijelo con los tornillos del
ventilador.

Installez le ventilateur a l'aide des vis prévues a cet effet, en veillant a ce que l'étiquette soit orientée vers le
support de montage.

Befestigen Sie den Lifter mithilfe der Lifterschrauben. Die Beschriftung zeigt dabei in Richtung
GPU-Halterung.

Installare la ventola con l'etichetta orientata verso la staffa della GPU utilizzando le viti della ventola.
Instale o ventilador com a etiqueta voltada para o suporte da GPU usando os parafusos do ventilador.

YcTaHOBUTE BEHTUSIATOP C MOMOLLbO COOTBETCTBYIOLIMX BUHTOB, NOBEPHYB €70 STUKETKON K KpenneHuo rpapuyeckoro
npoteccopa.

2H40| GPU 222l S &5t Sto] M LtALZ WS MX Bk

TFVFATEGEALT SNUAGPU TSIy MllcAL &57 7 v ERMYNITET -
FERARBRLZENER - 7EEE GPU XH -

S EMREE D GPU 3 - EFEMIBMIETRE -

O3HAKOMBTECH C 3TOV UHOOPMALIVEN MEPEA UCMOJIb30BAHUEM KRAKEN
G12 OT NZXT

370 KpenneHne npeHasHaueHo /1A OMbITHbIX MO/Ib30BaTeNeN, CaMoCTOATeNbHO cobupatowux caoi MK. MpasunbHas 1
6e30nacHan ycTaHoBKa G12 TpebyeT akkypaTHOCTN 1 OCTOPOXKHOCTY.

Kak npaBuno, rapaHtua Ha rpapuyeckuii npoLieccop AeNCTBYeT TONbKO NPy NCMONb30BaHMM rpaduyeckon KapTbl BMeCTe C
OpUriHanbHON cMCTeMoil oxnaxaeHus. CylllecTsyeT BbICOKaA BEPOATHOCTb, YTO MOC/IE CHATUA OPUIIHANIbHON CUCTEMbI
oxnaxaeHuA rapaHTua 6yaeT aHHynupoBaHa. Ecim Bbl nnaHupyete ucnonb3osartb Kraken G12 ¢ rpaduyeckoi KapToi, umeiTe B
By, YTO Balla rapaHTMA Ha rpaduyeckyio KapTy MOXET OKa3aTbCA HefleNCTBUTENbHOIA.

FapaHTua Kraken G12 ot NZXT pacnpocTpaHAeTca ToNbKO Ha CaMo YCTPOICTBO 1 €ro akcecCyapbl, KOTopble He BKIoualoT B ceba
rpaduyeckune KapTbl 1 ONONHUTENbHbIE XUAKOCTHBIE CUCTEMbI OXNaxaeHNA. Komnanua NZXT Takxe He HeceT OTBETCTBEHHOCTN
3a MoBPeX/eHNSA, ABNAIOWMECA Pe3yNbTaTOM HENPaBUIbHO YCTaHOBKM.

[inA nosyyeHna AONONHNTENbHOM MHbOPMaLUMK 06paTUTech B Hally Cyx6y NoAAep»KM No aapecy nzxt.com/support.

NZXT KRAKEN G12 Al Ho jojFd A

O] H2fjZl2 %7 E DIy It RME o MAZIRASLICE G12 HX| ZHUS AtD 210] SHIZH| 2Est2{H M MTH
Fo|E 7]g0jof FLct.

YHHEOZ GPU HES FLE0] AE B2 ALY AL HBHUCL A 23E HAY AL

K5 430] Z&LITE 13T FLE0|M Kraken G122 AL2SH MZto|Al2t®, J2iE 7tE H5S

ACH= ES M ZHokstA| 7| HEZfL|ch.

NZXT Kraken G12 2352 G12 XAt HMMe[of| 2t 2ete|H D)= =Lt =71 44 2o

2ELCEL NZXTE SHES SX|2 sl wlst= ME &42 MAKX|X| LS CL

62 XtA[SH L8 2 nzxt.com/supportS WEst0] THAL K|S0 2ol8tAl7] HiRiLCE

NZXT KRAKEN G12 O ZfERAIICBHEAHA L 2y -

AT Sy b& DY EREOI—HF—@IF ISFRFI SN ERBATY - G120OMYMHFKIISE - TR ISFEBEILL - TR
BREDBRVESISEELLKEHRET> T LS »

GPU ORFEICIRBE - A—FER vV I —F—LEDLETHRAT IEEORIINEFATOET - A by s v —5—
EMYSNT L - CORENBHCARDTAEESABLLBYVET - BEVDT F7 1 v 9 AH— KT Kraken G12 2 fERT
BBAEE BT T 5T 499 AA— FORIEEKRS YR 2D TRE CERCEEL -

NZXT Kraken G12 O {RFE(& ~ Kraken G12 & K UVBBET /9 U ISRES N~ FT3T 1 v J RN — KPR EOfDKEL S
—J—ICFEAshEEA - Tz - NZXT & - FREVARY IS &BBGITTIEEFEVEEA -
#4122 1V T ~ nzxt.com/support i 5 HIEDHKR— b F—LITEBOEbE LS -

$8F NZXT KRAKEN G12 7l - % & T %A

322251 DIY fTRIRI - R G12 B AE/NNEE - BHRKRESY -

GPU RE—RERERERTA LR - MRIFIREMLHNE - RISWATMERY - MREMEE K EEM Kraken G12
- BRARGELMNEBEFRIETELTHAIRG

%Z;%(;Igaken G12 IRENIRT G12 AFRERH - FEEEFMEMRESHME - NZXT i RARRLRRIEMAIE
IRKRA -

i%i;il‘lﬂ nzxt.com/support B E X FHHANKNESER -

WEMMBEERA NZXT KRAKEN G12

b2 2285 DIY R EAERE - 28 G12 BEEEMAL - FEEREEINERTA -

GPU BEEERBENFERRRAMEER - BRERMABRUATERRERY - MREEERTFLEM Kraken
G12 - B RECTARABRFRENRR -

NZXT Kraken G12 HIREEREXSHES - FE2MAEMEMACSEEE | NZXT TREREREREFMIRAVRIR -
MBELHEAM - H2 nzxt.com/support B3 MAYSZ 18 B BB -

STEP 3-PREPARE THE GPU BRACKET (Il)

Attach the two foam pieces at the corners as indicated while making sure the foams will not interfere with
components on the graphics card.

Coloque las dos piezas de espuma en las esquinas tal como se indica, asegurandose de que no interfieran
con los componentes de la tarjeta grafica.

Fixez les deux embouts en mousse sur les coins du support, comme indiqué. Attention a bien positionner
les embouts en mousse la ot ils ne risquent pas d'entrer en contact avec les composants de la carte
graphique.

Bringen Sie die zwei Schaumstoffteile an den Ecken an (siehe Abbildung). Die Teile diirfen die
Grafikkartenkomponenten nicht behindern.

Collocare i due spessori in materiale espanso sugli angoli come indicato, verificando che non interferiscano
con i componenti della scheda grafica.

Coloque os dois pedagos de espuma nos cantos, conforme indicado, verificando se as espumas nao
interferem nos componentes da placa grafica.

YcrtaHosuTe aBe NOPOJIOHOBbIE NOAKNAAKM Ha yrnax, Kak yKa3aHo Ha cxeme, 1 yﬁeFlI/ITECb, 4TO NOAKNAaJKN He
conpunKacatTcAa C KOMNOHeHTamn rpad)mueCKoﬁ KapTbl.

EAMNE N2 2709 W=H =ZhE BA2|0f SAFLICH o|If =X 7 D3 F=of FEF0 Yeh7t =X =S BHLCt

BO&LSI12 2 00REHEAICMY [T ET - COR -~ BBHLTZT7 4 v I RA—FOAVR-—F2 FORREIZED
BUESICERLTLEE W -

REBERESELRMEFPENR - FHREBATSHNEF EAESE -
WEFR - SRRERKESY - ARRREFSRBIRET LT -

0000000
0000000
0000000
0000000
ocoo0o0o00OO
coooo0oO0o
©CO00O0 0O
oooco0o00OO0
ooooo0OO0
oooo0000
oooo000
oooo000O©
ocooo000OO©
(o) of o) o) oNaXa]
ooo000OO
opooo00OO©
ooo00OOOO®
oooo00©
ooo00C0O0OO
oooo0000
ooooo0O0O
oooo000
oooo0000

COMPONENT LIST

LISTA DE COMPONENTES
LISTE DES COMPOSANTS
KOMPONENTENLISTE
CNMCOK KOMMNOHEHTOB
ELENCO DEI COMPONENTI
LISTA DE COMPONENTES
TYdE 55

@Y R b

A GPU bracket F Thumbscrew with spring

Xl M @
B Fan G Washer

x1 x8

C Nvidia retention bracket (Note: Indicated with "N") H Foam

x2 % x2

D AMD retention bracket (Note: Indicated with "A") | Fan screw - M5x10

A. Soporte de la GPU

B.Ventilador

C. Soporte de sujecion Nvidia (Nota: indicado con una "N")
D. Soporte de sujecion AMD (Nota: indicado con una "A")
E.Tornillos de la GPU: M3x5

F. Tornillo moleteado con muelle

G.Arandela

H.Espuma

1. Tornillo del ventilador: M5x10

J. Brida para cable

A.Support de montage

B.Ventilateur

C. Support de fixation Nvidia (indiqué par un « N »)
D. Support de fixation AMD (indiqué par un « A »)
E.Vis pour carte graphique :M3x 5

F. Vis aressort

G. Rondelles

H.Mousse

1. Vis du ventilateur : M5 x 10

J.Serre-cébles

A.GPU-Halterung

B. Lufter

C. NVIDIA-Befestigungsschienen (Hinweis: mit einem ,,N* markiert)
D. AMD-Befestigungsschienen (Hinweis: mit einem ,,A* markiert)
E.GPU-Schrauben (M3x5)

F. Randelschrauben mit Feder

G. Unterlegscheiben

H. Schaumstoffteile

1. Liifterschrauben (M5x10)

J. Kabelbinder

A. Staffa della GPU

B.Ventola

C. Staffa di supporto Nvidia (Nota:indicata con
D. Staffa di supporto AMD (Nota: indicata con "A")
E.Viti della GPU - M3x5

A. KPEMJIEHNE TPAOUYECKOTO NPOLIECCOPA

B. BEHTUNATOP

C. KPEMJIEHVE NVIDIA (MTPUMEYAHWE. OTMEYEHO BYKBOW "N")
D. KPEM/IEHVE AMD (MPUMEYAHME. OTMEYEHO BYKBOW "A")

E. BUHTbI TPAGUYECKOIO MPOLIECCOPA: M3X5

F. BAPALLIKOBbI/ BUHT C MPY>KUHOW

G. WAVBA

H. MOPOJIOHOBAA NMOAKNAAKA

1. BUHT BEHTUJIATOPA: M5X10

J. CTAXKKM ANA KABENEN

A GPU E2fiZl

o

0w

vidia 17 22iZ(&2: "N'S 2 HA|)
MD 1 E2fZU(&D: "A"R HAl)
PU LEAF - M3x5

IR0 2l HAa R

o
>z

m
[a)

-

o >
=

| |
M LEAL - M5x10
O£ EtO]

—Im

Hr

AGPUTS7 vk

B.o7Y

CNVIDARETZ7 v b (3E: "NJ TREhFET)
DAMDRET 547 v b (G: "A) TRENET )
E.GPU #> -M3x5

FRT)2 I &R

GIovysv—

H. 3687

L2732 -M5x10

Lir=Tns4

A GPU 222

B. XS

C.Nvidia BIE322R (& : A'N1RE )
D.AMD Bl (% : A'A'TRE )
E.GPU #2# — M3x5

x2 K F. Vite zigrinata con molla FEFREy
G. Rondella G. 2
H. Materiale espanso H. 84
1. Viti della ventola - M5x10 1. FESYREZ — M5x10
J. Fascette %

E GPU screws - M3xs J Cable tie R

x4 X5
A.Suporte da GPU A.GPUZ
B.Ventilador B. B
C. Suporte de retengao Nvidia (obs.:indicado com um "N") C.Nvidia BIZEZ2 &f : B "N, &7R)
D. Suporte de retencao AMD (obs.: indicado com um "A") D.AMD EIZEZ (F : B "AL &=T)
E. Parafusos GPU - M3x5 E. GPU ##% — M3x5
F. Parafuso com mola F.SBEF R4
G.Arruela G 2H
H. Espuma H. ;84
1. Parafuso do ventilador - M5x10 |. BRI — M5x10
J.Bracadeira de cabos LRISE

Nvidia o
AMD
| O

o

HOLES ON GPU BRACKET GRAPHICS CARD REQUIRED RETENTION BRACKET
Outer 4 holes Nvidia C

Nvidia retention bracket

Inner 4 holes AMD D AMD retention bracket

STEP 4-IDENTIFY THE MOUNTING HOLES AND RETENTION BRACKETS

Using the chart, identify the holes on the GPU bracket and prepare the required retention brackets for your
graphics cards.

Con ayuda del grafico, identifique los orificios del soporte de la GPU y prepare los soportes de sujecién
necesarios para las tarjetas graficas.

Al'aide du graphique, repérez les trous du support de montage compatibles avec votre carte graphique,
puis préparez le support de fixation requis.

Legen Sie die zu Ihrer Grafikkarte passenden Schienen bereit und ordnen Sie diesen die Bohrungen auf der
GPU-Halterung zu (siehe Tabelle).

Utilizzando lo schema, identificare i fori sulla staffa della GPU e preparare le staffe di supporto necessarie
per la scheda grafica.

Utilizando o grafico, identifique os orificios no suporte da GPU e prepare os suportes de retengao
necessarios para as placas graficas.

C nomoLibio TabnuLbl onpeaenuTe OTBEPCTUA Ha KpenneHnn rpadryeckoro NpoLeccopa u noaroToBbTe HEO6Xo0AUMble
KpenneHna Ana Balvx rpadryecknx Kapr.

AMEE AHE3I0] GPU Bej3lo] S elstn Jaiy F=of Badt nd Ea3lg FugUCh
LtROKESRLT -GPUT 37y FOREREL - V5374 v I RAh— RIZREGRFTS7y MEEFLET -
FEREREE GPU LA - REAZEFABNERESR -

FERERTRE GPU R LKA, - WRANERFERFRBNEER -

STEP 5-PREPARE THE RETENTION BRACKET

Mount the retention brackets using screws and washers to prevent risk of damage to your graphics card.

Monte los soportes de sujecion utilizando los tornillos y las arandelas para evitar el riesgo de dafar la
tarjeta grafica.

Pour éviter d'endommager la carte graphique, montez le support de fixation a l'aide des vis et des rondelles
fournies.

Schrauben Sie die Schienen mit den Schrauben fest. Verwenden Sie die Unterlegscheiben, um eine
Beschéadigung der Grafikkarte zu vermeiden.

Montare le staffe di supporto utilizzando viti e rondelle per evitare di danneggiare la scheda grafica.

g/lg?te os suportes de retencao usando os parafusos e as arruelas para evitar o risco de danos a placa
rafica.

YcTaHOBWTE KpernsieHUe C MOMOLLbIO BUHTOB 1 Waiib, YTo6bl UCKKUNTL PUCK NOBPEXAEHUA rpaduieckoil KapTbl.

LIANRE QLM E AP 3te] 2 Ea3le F&s) i 7tE7t &4 E Qe YL

T349I 2N— ROBEEHCED - 2Ly Vv —2BALTRETI S 7y bERYNTET -

FERRLMBETKERSR - AMIEEFRT -

ERRMARETREER - BeHERREMES -




INSTALLATION

INSTALACION
INSTALLATION
INSTALLIEREN
INSTALLAZIONE
INSTALACAO
YCTAHOBKA

STEP 6-PREPARE THE PUMP

Referring to your liquid cooler’s instructions, remove the Intel or AMD retention bracket if it is already
installed.
Sample diagram is from Kraken series.

Consultando las instrucciones del refrigerador liquido, extraiga el soporte de sujecion Intel o AMD si ya esta
instalado.
El diagrama de muestra es de la serie Kraken.

Si un support de fixation Intel ou AMD est pré-installé sur la pompe, reportez-vous au manuel du systéme de
refroidissement liquide pour le retirer.
Le diagramme représente un systéme de refroidissement de la gamme Kraken.

Sollte die Intel- bzw. AMD-Halterung bereits eingebaut sein, entfernen Sie sie, wie in der Anleitung des
Wasserkiihlers beschrieben.
Die Beispielabbildung gilt fir die Kraken-Serie.

Facendo riferimento alle istruzioni del dissipatore a liquido, rimuovere la staffa di supporto Intel 0o AMD se &
gia installata.
Lo schema di esempio appartiene alla serie Kraken.

Consultando as instrucdes do resfriador liquido, remova o suporte de retencéo Intel ou AMD, caso ja esteja
instalado.
0 modelo de diagrama é para as séries da Kraken.

Cnepya UHCTPYKLMAM MO YCTAaHOBKE XWAKOCTHO CUCTEMbI OXNTaxAeHnaA, CHuMnTe Kpennenue Intel unu AMD, ecnu
OHO y»Ke yCTaHOB/IEHO.
O6paseL| cxeMbl B3AT U3 MHCTPYKLMKM Ana cepun Kraken.

Intel & AMD 1F =22{Z10| 00| |5/ Y= P2 M 22| MYME &nsto] 0|§ FalgtLct
ME = HE Kraken Al2|=9] HQ LT}
AVTFILERIZAMD ORFET 57 v AT TIZMY M SATLNDEEK - KeV —F—0OMBHRASESRL T %

hHEWMYILES -
H Y FILORIE Kraken ¥ Y —XTY -

BRICLHFRBER - 7T Intel 3 AMD BEXZE ( BEEERERE) -
Kraken % FIR=MAE -

B RICLBAMBRHRET - HOZK Intel AMD EER - FRHBIR -
EHIM% Kraken %31 -

STEP 7-INSTALL THE PUMP ONTO THE GPU BRACKET

The GPU bracket is designed using the same mounting mechanism as the Intel or AMD retention brackets.
Follow the steps from your liquid cooler’s instructions to install the GPU bracket and pump.

I. Orient the pump’s tubes along the side with cable tie points as shown.

1. Pass the pump through the GPU bracket's grooves.

Ill. Rotate the pump until it aligns with the GPU bracket’s and attach.

El soporte de la GPU esta disefiado con el mismo mecanismo de montaje que los soportes de sujecion Intel
o AMD. Siga los pasos de las instrucciones del refrigerador liquido para instalar el soporte de la GPU y la
bomba.

I. Oriente los tubos de la bomba a lo largo del lateral, con bridas para cable donde se indica.

II. Pase la bomba a través de las ranuras del soporte de la GPU.

Il. Gire la bomba hasta que se alinee con el soporte de la GPU y fijela

Le support de montage s'installe sur la pompe de la méme maniére que les supports de fixation Intel ou
AMD. Suivez les consignes du manuel du systéme de refroidissement liquide pour effectuer cette
installation.

|. Maintenez les tuyaux de la pompe sur le coté grace aux serre-cables, comme illustré.

II. Faites passer la pompe dans le trou @ encoches du support de montage.

Il. Faites pivoter la pompe pour l'empécher de ressortir, puis fixez-la.

Das Montagesystem fiir die GPU-Halterung entspricht dem der Intel- bzw. AMD-Halterungen. Befolgen Sie
beim Einbau der GPU-Halterung und der Pumpe bitte die Anleitung des Wasserkiihlers.
I. Richten Sie die Pumpschléuche seitlich wie in der Abbildung aus. Die Enden der Kabelbinder sollten in
die angezeigte Richtung zeigen.
IIl. Fiihren Sie die Pumpe durch die Aussparung der GPU-Halterung.
Ill. Drehen Sie die Pumpe, bis sie biindig mit der GPU-Halterung ist und einrastet.

La staffa della GPU é stata progettata utilizzando lo stesso meccanismo di montaggio delle staffe di
supporto Intel o AMD. Seguire i passaggi indicati dalle istruzioni del dissipatore a liquido per installare la
staffa della GPU e la pompa.

1. Orientare i tubicini della pompa lungo il lato con i punti per le fascette come mostrato.

Il. Far passare la pompa attraverso le scanalature della staffa della GPU.

II. Far ruotare la pompa in modo da allinearla alla staffa della GPU e fissarla.

O suporte da GPU foi projetado com base no mesmo mecanismo de montagem dos suportes de retencao
Intel ou AMD. Siga as etapas de instrucao do resfriador liquido para instalar o suporte e a bomba da GPU.
|. Guie os tubos da bomba ao longo da lateral, com as pontas da bragadeira de cabo, conforme mostrado.
Il. Passe a bomba pelos sulcos do suporte da GPU.
IIl. Gire a bomba até que ela se alinhe com o suporte da GPU, fixando-a.

KpenneHue rpadnyeckoro npoLeccopa NMeeT Ty e CUCTEMY MOHTaXa, uTo 1 Kpennerus Intel unn AMD. YcTaHoBuTe
KpenneHme rpapuyeckoro npoLeccopa 1 Hacoc, ceays MHCTPYKLMAM MO YCTaHOBKE XKIAKOCTHOI CUCTEMbI
OXnaxaeHus.

1. MponoxwTe TPyGKM Hacoca PAKOM C TOUKaMI 3aKPENNEHNs CTAXKaMI Ans Kabeneil, Kak yKasaHo Ha cxeme.

II. BcTaBbTe HAacoC B Nasbl KpeneHns rpaduyeckoro npoueccopa.

1l. MoBepHMTE HacoC, YTOGbI COBMECTUTb €r0 € KPemeHNeM rpadrieckoro NpoLeccopa 1 3aduKcMposartb.

GPU =LE{ZI2 Intel = AMD 18 22{Zl1t SUBH T& HHLISS ALt MA | RSLICH A S YA
CHAof o2t GPU Eef3lat HEE MX|g ot

I 11t Zo| #0|8 EfO| X|Ho| £TE mat YT R =g HiX|EhLCk

I HZE GPU E2f2l 202 EMA|Z LT}

Il GPU EE{ZI0ff I3 R A M7kX| IS & ™ pfLCt

COGPUTZ7y ME AV TILELFAMDRIT 57 v bERUMY NI MELEERL TREFShTVET - K%
7 =5 —ORERHAEOFIEIH> T -GPU 757y bRV TERYNITES »
LRICARTLSICRY IDF =Ty —TLEA RV FOBHIEICHE>TERELET -
WA Z7EGPUTS7y FOBISELEY -
NLGPU 757 v hORBLESFTRY TGS ETMY NI ET -

FERIT GPU 2 - RATS Intel 3 AMD BT AR RN - RIRRE L WEBRVIA PSS B GPU TR -
| AENERERENSE - REBHC@MEFRR -
II¥R R GPU ST448 -
ILERER - HRIRS GPU TR - MEES -

GPU ZRF R EHHIS Intel 87 AMD BEIEZUER - IKIRIOSHMEBRIAPHLER - 28K GPU RATH -
L ERANE e AKE - £ THEEEMREHEERE -
ILH8RHZRA GPU 22081 -
ILEERRE - ERRFEHE GPU RAEE -

STEP 8-INSTALL THE GPU BRACKET

Using the thumbscrews with spring, install the GPU bracket onto the graphics card.

Con los tornillos moleteados con muelle, instale el soporte de la GPU en la tarjeta grafica.
Al'aide des vis a ressort, installez le support de montage sur la carte graphique.

Befestigen Sie die GPU-Halterung mithilfe der gefederten Randelschrauben an der Grafikkarte.
Utilizzando la vite zigrinata con molla, installare la staffa della GPU sulla scheda grafica.
Utilizando os parafusos com molas, instale o suporte da GPU na placa gréafica.

YcTaHoBWTe KpenseHune rpadrieckoro NpoLieccopa Ha rpaguyeckyio KapTy ¢ MOMOLLbO 6apalLKOBbIX BUHTOB C NPYXKHOVA.
ADPYO| 2 YAIRZ AFESH0] 22T 7HE0) GPU B2 HX[ELCE

ATV IRERROEERAL T 3749 AH—RIZGPU TS v hERYRITETS -
EARRTFRIRLT GPUXRERIET R L -

EFERFRIRMG - 1§ GPU RERERRFL -

STEP 9-MANAGE THE TUBES AND CABLES

Use the included cable ties to manage the tubes and cables along the trench with tie points.

Utilice las bridas para cable incluidas para organizar los tubos y los cables a lo largo del hueco con los
puntos de fijacion.

A l'aide des serre-cables fournis, agencez les tuyaux et cables le long de la tranchée.

Sortieren Sie Schlauche und Kabel mithilfe der im Lieferumfang enthaltenen Kabelbinder im daftr
vorgesehenen Kabelschacht.

Utilize as bragadeiras de cabo inclusas para guiar os tubos e os cabos ao longo da trincheira.

Utilizzare le fascette in dotazione per sistemare i tubicini e i cavi lungo la scanalatura con i punti appositi.
3aduKcnpyiiTte TPy6KM 1 Kabenu C MOMOLLbIO CTAXeK AnA Kabeneii B TOUKax 3aKpernneHua B yrny6neHun.

et 0|5 EtO|E AL8310] RE2 A 0|25 EtO| A2 =S wat F2gL o

EEOT -T2 &EALT 84 RA Y bORNE M Y FISH>TFa—TET—TILERBLET -

FEFABEPR SR AL R B R 4L -

ERABMNRES  EEETNEERMRGHREEFANR -

Liquid cooler's Fan

Kraken G12’s Fan

STEP 10-CONNECT THE FAN

Connect the Kraken G12’s 3-pin fan connector to the liquid cooler’s fan power or to an open fan headers on
the motherboard.

Conecte el conector del ventilador de 3 patillas del Kraken G12 a la alimentacién del ventilador del
refrigerador liquido o a un cabezal para ventilador abierto de la placa base.

Branchez le connecteur & 3 broches du ventilateur du Kraken G12 & l'alimentation dédiée sur le systéme de
refroidissement liquide ou effectuez le branchement sur un connecteur pour ventilateur disponible sur la
carte-mere.

SchlieBen Sie den Kraken G12-Lifter mit dem 3-Pin-Anschluss an die Stromversorgung des Wasserkiihlers
bzw. an einen freien Lifteranschluss am Mainboard an.

Collegare il connettore a 3 pin della ventola Kraken G12 all'alimentazione della ventola del dissipatore a
liquido o alla basetta libera di una ventola della scheda madre.

Conecte o conector de trés pinos do ventilador da Kraken G12 a alimentacéo do ventilador do resfriador
liquido ou a um conector de ventilador aberto na placa mae.

MopkniounTe 3-KOHTaKTHbIN pasbem Kraken G12 k pas3bemMy NUTaHNA BEHTUNIATOPA KNAKOCTHOW CUCTEMbI OXNaXKAEHUA
N1 K AOCTYNHOMY pa3bemMy BEHTUIATOPA Ha MaTepl/IHCKOIZ nnare.

Kraken G122| 38 ™ H4|E{E £'d4| F2{e| W MRAO|L OIHEEC| 7 L& W siTof HETLC).

KrakenG12D3EY T 7 A%y 8 &KLY —5— DT 7V OBREFLBFEIPF—R—ROF—FU T 7oAy F—IBHELET -
¥ Kraken G12 ®=#t R MR SLER IR A ¢ D RO R B RFRH ER LHOABRRBEL -

# Kraken G12 9 3 $tBEMBIREEE KL HRAENEANER - UREHR 0K EMNER -

STEP 11-INSTALL THE ASSEMBLED GRAPHICS CARD

Follow the liquid coolers instructions and complete all necessary connections to complete the installation
of your graphics cards. This can include pump power, USB, and software installation.

Siga las instrucciones del refrigerador liquido y realice todas las conexiones necesarias para completar la
instalacion de las tarjetas graficas. Pueden incluir la instalacién de la alimentacién de la bomba, el USBy el
software.

Reportez-vous au manuel du systéme de refroidissement liquide pour effectuer tous les branchements
restants, y compris l'alimentation de la pompe ou un branchement USB. Il peut également étre nécessaire
d'installer un logiciel.

Befolgen Sie die Anleitung fiir den Wasserkiihler und schlieflen Sie den Einbau mit dem Anschluss aller
Ubrigen Komponenten ab. Dies kann die Stromversorgung der Pumpe, USB-Anschliisse und
Softwareinstallationen umfassen.

Seguire le istruzioni del dissipatore a liquido ed effettuare tutti i collegamenti necessari per completare
l'installazione della scheda grafica. Questa operazione pud includere il collegamento dell'alimentazione
della pompa e della porta USB, oltre all'installazione del software.

Siga as instrucdes dos resfriadores liquidos e realize todas as conexdes necessarias para a conclusao da
instalacao de suas placas graficas. Isso pode incluir alimentacao da bomba, USB e instalacao do software.

3aBepLumnTe YCTaHOBKY rpadriueckoii KapTbl, BbIMOMHMB BCE HEOOXOAMMbIE MOAKIIOUEHUA, Kak YKa3aHO B MHCTPYKLMAX
0 YCTaHOBKE XXUAKOCTHOM CUCTEMbI OXMTaxKaeHA. BO3MOXHO, noTpebyeTca nogknioyeHvie nutaHua Hacoca, USB nnn
YCTaHOBKa NPOrpamMmmMHOro obecneyeHus.

4 2 AYMo| 2t Yest AA g RE 4Rt I e JX| HYS AZBLICE 0|2 AN = HZ
&, use, 2ZELJ 0] EX| SO ASLICE

KRV —7—ORRABEI=H-> T - REBABEREZITRTTVN -V I714 97 Ah— RORYUFHERTLET - COF
IBI<i& ~ RY TR USB 8BLBY T FI 7O VA M—ABEENETS -

RS ADIBREOGIRASS R A D EAER: - DUETRE RN - TIREEERER - USB RERHIZE -
RRASBRBORBBEEAMEVENER - DISHBRENRE - EUEEEREER - USBURZRRES -

NZXT WARRANTY

I. Warranty Length

NZXT computer cases, temperature meters, fans, accessories, and cables carry a 2 year
warranty from the date of purchase for parts and labor. Any replacement product will be
warranted for the remainder of the warranty period or thirty days, whichever is longer. Proof
of purchase is required for warranty service.

1. Who Is Protected
The Warranty covers only NZXT products purchased by the original consumer from authorized
NZXT retailers.

11l. What Is Covered

Please note that our warranty is not an unconditional guarantee. If the product, in NZXT's
opinion, malfunctions within the warranty period, NZXT will at its discretion repair or replace
the product that is equal or greater in value depending on supply. The warranty does not
cover any NZXT product that was damaged due to accident, misuse, abuse, improper
installation, usage not in accordance with product specifications and instructions, natural or
personal disaster, or unauthorized alterations, repairs or modifications.

Our warranty does not cover the following:

Any product or serial number/warranty sticker modification applied without permission from
NZXT. Any damage that is not a manufacturing defect. Damage, deterioration or malfunction
resulting from accident, abuse, misuse, neglect, fire, water, lightning, or other acts of nature,
unauthorized product modification or failure to follow instructions included with the product.
Repair or attempted repair by anyone not authorized by NZXT. Shipping or transport damage
(claims must be made with the carrier) Normal wear and tear. NZXT does not warrant that
this product will meet your requirements. It is your responsibility to determine the suitability
of this product for your purpose. Removal or installation charges. Shipping charges. Any
incidental charges.

IV. Exclusion Of Damages (Disclaimer)

NZXT's sole obligation and liability under this warranty is limited to the repair or
replacement of a defective product at our option. NZXT shall not, in any event, be liable for
any incidental or consequential damage, including but not limited to damages resulting from
interruption of service and loss of data, business, or for liability in tort relating to this
product or resulting from its use or possession. V. Limitations Of Implied Warranties There
are no other warranties, expressed or implied, including but not limited to those of
merchantability or fitness for a particular purpose. The duration of implied warranties is
limited to the warranty length specified in Paragraph I.

VI. Local Law And Your Warranty
This warranty gives you specific legal rights. You may also have other rights granted under
local law. These rights may vary.

VIl. To Obtain Technical Support
If you have already referenced your product owner's manual and still need help, please visit
support.nzxt.com for details and contact information.

VIII. For Warranty Service
In the event that warranty repair or replacement is necessary, NZXT will request and you must
provide proof of purchase (store receipt or invoice) in order to receive warranty service. For

North American Customers:

Within the first 60 days after purchase, please return your product (or for power supplies
installed within our enclosures, just the failed power supply) to your dealer or reseller for a
replacement. If the product is still within warranty and you can no longer return it to your
dealer, please contact NZXT Customer Support (support.nzxt.com) for assistance and
instructions. NZXT will not accept returns without prior approval and an RMA number.

In Europe:

Within the first year after purchase, please return your product (or for power supplies installed
within our enclosures, just the failed power supply) to your dealer or reseller for a replacement. If the
product is still within warranty and you can no longer return it to your dealer, please contact NZXT
Customer Support for assistance and instructions. NZXT will not accept returns without prior
approval.

Global Customers (Outside North America and Europe):

If your product needs to be returned or repair within the warranty period, please do so through the
retailer or distributor from whom you purchased the product. If you can no longer return the product
to your dealer, please contact NZXT Customer Support for assistance. Please note, proof of
purchase from an authorized NZXT retailer is required for ALL warranty servicing.

Warranty terms for all NZXT products sold to Australia:

Our goods come with guarantees that cannot be excluded under the Australian Consumer
Law. You are entitled to a replacement or refund for a major failure and or compensation for
any other reasonably foreseeable loss or damage. You are also entitled to have the goods
repaired or replaced if the goods fail to be of acceptable quality and the failure does not
amount to a major failure' (NZXT Corporation, 13164 E. Temple Ave., City of Industry, CA
91746, USA TEL: +1-800-228-9395) Please contact the shop you purchased from to receive
prompt service. If the dealer refuses to offer the service, please contact us at directly at
support.nzxt.com

e Visit support.nzxt.com for information on warranty coverage and service

o Visite el sitio Web support.nzxt.com para obtener informacion sobre la cobertura y el servicio de la garantia.
® Visitez support.nzxt.com pour les informations de la couverture de la garantie et du service.

e Informationen zu Geltungsbereich und Service der Garantie finden Sie unter support.nzxt.com

o [oapo6Hyto nHPopMaLMio 06 YCIIOBUAX rapaHTUNHOTO 06CYKNBaHUA CM. Ha Be6-caliTe support.nzxt.com
e Visitare il sito support.nzxt.com per informazioni sulla copertura e sul servizio della garanzia.

o Visite support.nzxt.com para obter informagdes sobre a cobertura da garantia e assisténcia

o HZ H|Q MH| A0 ChEF XM S LH8-2 support.nzxt.coms EXSHUA| L

o RAFEFEAEH L U Y —E RICEIT H1ERICD LN TIE ~ support.nzxt.com [C7 7 ZRAL TLEE L -

o 5I&1 support.nzxt.com T HHMEBERRSHIER

#BaAM support.nzxt.com ¥ E MmIRE HEE 2 RBA S

SUPPORT AND SERVICE

Support and service

If you have any questions or problems with the NZXT product you purchased, please don’t hesitate to
contact us using our support system. support.nzxt.com

Please include a detailed explanation of your problem and your proof of purchase. For comments and
suggestions, you can e-mail our design team, designer@nzxt.com. Lastly we would like to thank you for
your support by purchasing this product.

For more information about NZXT, please visit us online. NZXT Website: nzxt.com

Soporte y servicio

Si tiene preguntas o problemas con el producto NZXT que usted comprd, no dure en ponerse en contacto con
service@nzxt.com y suministrar una explicacion detallada de su problema asi como su prueba de compra.
Puede hacer consultas sobre piezas de repuesto en support.nzxt.com. Para comentarios y sugerencias, escriba
un mensaje de correo electrénico a nuestro equipo de diseno: designer@nzxt.com. Gracias por comprar un
producto NZXT. Para mas informacién acerca de NZXT, visitenos en linea. Pagina web de NZXT: nzxt.com

Support et service

Sivous avez des questions ou des problémes avec le produit NZXT que vous avez acheté, n’hésitez pas a
contacter service@nzxt.com avec une description détaillée de votre probléme et votre preuve d’achat. Vous
pouvez aussi commander des piéces de remplacement auprés support.nzxt.com. Pour les commentaires et
les suggestions, envoyez un email & notre équipe de design, designer@nzxt.com. Merci d'avoir acheté ce
produit de NZXT. Pour plus d'informations sur NZXT, visitez notre site Web. Site Web de NZXT : nzxt.com

Kundendienst und service

Falls Fragen oder Probleme beziiglich Ihres NZXT-Produktes auftreten, wenden Sie sich bitte mit einer
detaillierten Problembeschreibung und Ihrem Kaufbeleg an service@nzxt.com.

Ersatzteile konnen Sie unter support.nzxt.com anfragen. Kommentare und Anregungen senden Sie bitte
per designer@nzxt.com an unser Designteam. Vielen Dank, dass Sie ein NZXT-Produkt erworben haben.
Weitere Informationen tiber NZXT erhalten Sie im Internet. NZXT-Webseite: nzxt.com

Cnyx6a noaaepKkun n o6cnyxnBaHnsa

B cryuae BO3HWKHOBEHMSA BOMPOCOB VNN HEMCNPABHOCTE B MprobpeTeHHbIX Bamu npoayktax NZXT obpatuaiitecs no
anpecy: service@nzxt.com ¢ NoAPO6HbIM OncaHViem NpoGnembl v NOATBEPXAEHNEM NOKYMKY. O Hannumm 3anyacteil MoXHO
y3HaTb, 06paTUBLLMCh NO azipecy: support.nzxt.com. 3ameyaHia v NPeJIoKEHNA OTNPaBNATe B afpec Hallel rpynmbl
paspabotumkos: designer@nzxt.com. bnaropapym Bac 3a nokynky npoaykra NZXT. bonee nogpobHas nHdopmaLmsa o
komnaHvn NZXT npeacTaBneHa Ha Halux Be6-caiitax. Be6-cant NZXT: nzxt.com

Assistenza e servizio

In caso di dubbi o problemi con il prodotto NZXT acquistato, non esitate a contattarci utilizzando il nostro
sistema di assistenza. support.nzxt.com

Includere una spiegazione dettagliata del problema e la prova di acquisto. Per commenti e suggerimenti,
siete pregati di inviare un messaggio al nostro team di progettisti, all'indirizzo: designer@nzxt.com. Infine,
vogliamo ringraziarvi del vostro supporto con l'acquisto di questo prodotto. Per altre informazioni su NZXT,
visitate il nostro sito. Sito NZXT: nzxt.com

Assisténcia e manutencao

Caso tenha questdes ou problemas com o produto NZXT adquirido, nao hesite em contactar-nos através do
endereco service@nzxt.com fornecendo a explicacdo detalhada do seu problema e a prova de compra. Podera
solicitar pecas de substituicao através do enderego support.nzxt.com. Para comentarios e sugestdes, contacte
anossa equipa de design através do endereco de e-mail, designer@nzxt.com. Obrigado por ter adquirido um
produto NZXT. Para mais informagdes acerca da NZXT, visite-nos online. Web site da NZXT: nzxt.com

K& % MH[A

TeIe NZXT M Z0 Basto] AR £ M7 AS FR, SAR| X Al2E(support.nzxt.com) S AHE3HY
BOSHIAIR. ZHE AHMS| 7|&stn 1L} SYS

HESHIAIR. oA E= H| 2 AL0] AS B BAH M

E|0|| designer@nzxt.com@ 2 O|H Y HL{AA|R, OIX| 4L & 0| HES FASIH HAIS

S FMAM ZARLCE NZXTOl| T XbM3] 2{T 22tele 2 fESHYAIR.

NZXT I AO| E: nzxt.com

YR—bE&LCH—ER

BAEhELAENXTORMICEY 5 CHE - (XME - BEOHMS L CBADOIRERAT - CEEA<
service@nzxt.com T IEAE L 2 &L - IR M (Fsupportnzxt.comFTHJRL L& - CREH L PRIV
BHF —L - designer@nzxtcom FT A = EBEL TR IV - NXTHRZE CRAVEEEELTHYAMLE S STVNET -
NZXTICB3 28 MiE ~ 1 VA —Ry hED Tz THA FECRCEZS L « NIXT U 2 FH4( b noxtcom

ZRMKES

WMRAEMETHEIE LR NZXT =RV E AR WEE service@nzxt.com, XA N B Rt R TiO B A
BiHARMSTEIE - MEBLE support.nzxt.com EWEHRIH - MAEHRIREN ORISR MR, B F et
& designer@nzxt.com - BEEME NZXT 7@ - AR NZXT HESES, BEHRNINEL R -

NZXT Mt : nzxt.com

SZiERARES

MISREEFNZXT ERERTABRIEMREREER - #0HR service@nzxt.com « WHRGRBNHMARCE R BER
B - fZTIEE support.nzxt.com BHEREH - MAEEAE RN - BUIREHER BB

R designer@nzxt.com - H# - BHEHWE NZIXT Ef - B NIXT WESER - SHABR MM -

NZXT #81i& : nzxt.com

nzxt.com
For more building tips and information, visit: blog.nzxt.com



